

L - мул. n -во маг \mathbb{R} , $\dim(L) = 4$; (1)

l_1, l_2, l_3, l_4 - базис n -ва L .

$$A = \begin{pmatrix} 1 & 0 & 2 & -1 \\ 0 & 1 & 4 & -2 \\ 2 & -1 & 0 & 1 \\ 2 & -1 & -1 & 2 \end{pmatrix}$$

$$\begin{vmatrix} 1-\lambda & 0 & 2 & -1 \\ 0 & 1-\lambda & 4 & -2 \\ 2 & -1 & -\lambda & 1 \\ 2 & -1 & -1 & 2-\lambda \end{vmatrix} =$$

$$\begin{vmatrix} 1-\lambda & 0 & 2 & -1 \\ -2(1-\lambda) & 1-\lambda & 0 & 0 \\ 3-\lambda & -1 & 2-\lambda & 0 \\ 2+(1-\lambda)(2-\lambda) & -1 & -1+2(2-\lambda) & 0 \end{vmatrix} =$$

$$(1-\lambda) \begin{vmatrix} -2 & 1 & 0 \\ 3-\lambda & -1 & 2-\lambda \\ 2+(1-\lambda)(2-\lambda) & -1 & -1+2(2-\lambda) \end{vmatrix} =$$

$$(1-\lambda) \begin{vmatrix} -2 & 1 & 0 \\ 1-\lambda & 0 & 2-\lambda \\ (1-\lambda)(2-\lambda) & 0 & -1+2(2-\lambda) \end{vmatrix} =$$

$$-(1-\lambda)^2 \begin{vmatrix} 1 & 2-\lambda \\ 2-\lambda & -1+2(2-\lambda) \end{vmatrix} = \quad (2)$$

$$-(1-\lambda)^2 \left(-1 + 2(2-\lambda) - (2-\lambda)^2 \right) =$$

$$-(1-\lambda)^2 \left(-1 + (2-\lambda)(2-2+\lambda) \right) =$$

$$-(1-\lambda)^2 \left(-1 + 2\lambda - \lambda^2 \right) = (\lambda-1)^4$$

$$\lambda = 1, \quad m = 4.$$

$$\lambda = 1, \quad m = 4$$

$$\begin{pmatrix} 0 & 0 & 2 & -1 \\ 0 & 0 & 4 & -2 \\ 2 & -1 & -1 & 1 \\ 2 & -1 & -1 & 1 \end{pmatrix}$$

$$\begin{pmatrix} 0 & 0 & 2 & -1 \\ 2 & -1 & -1 & 1 \end{pmatrix} \downarrow$$

$$\begin{pmatrix} 0 & 0 & 2 & -1 \\ 2 & -1 & 1 & 0 \end{pmatrix}$$

$$\begin{pmatrix} \textcircled{2} & \textcircled{4} & \textcircled{1} & \textcircled{3} \\ 0 & -1 & 0 & -2 \\ -1 & 0 & -2 & -1 \end{pmatrix}$$

$$\lambda^1 = C^1, \quad \lambda^3 = C^2.$$

$$(1) \quad c^1 = 1, c^2 = 0; \quad \lambda^1 = 1, \lambda^3 = 0 \quad (3)$$

$$\lambda^2 = 2, \lambda^4 = 0. \quad e_1 = \begin{pmatrix} 1 \\ 2 \\ 0 \\ 0 \end{pmatrix}$$

$$(2) \quad c^1 = 0, c^2 = 1; \quad \lambda^1 = 0, \lambda^3 = 1$$

$$\lambda^2 = 1, \lambda^4 = 2. \quad e_2 = \begin{pmatrix} 0 \\ 1 \\ 1 \\ 2 \end{pmatrix}.$$

$$(A - \lambda I)^2 =$$

$$\begin{pmatrix} 0 & 0 & 2 & -1 \\ 0 & 0 & 4 & -2 \\ 2 & -1 & -1 & 1 \\ 2 & -1 & -1 & 1 \end{pmatrix} \begin{pmatrix} 0 & 0 & 2 & -1 \\ 0 & 0 & 4 & -2 \\ 2 & -1 & -1 & 1 \\ 2 & -1 & -1 & 1 \end{pmatrix} =$$

$$\begin{pmatrix} 2 & -1 & -1 & 1 \\ 4 & -2 & -2 & 2 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix} \quad (2 \quad -1 \quad -1 \quad 1)$$

$$\begin{pmatrix} \textcircled{4} & \textcircled{1} & \textcircled{2} & \textcircled{3} \\ 1 & -2 & 1 & 1 \end{pmatrix} \quad \lambda^1 = c^1, \lambda^2 = c^2, \lambda^3 = c^3.$$

$$(1) \quad c^1 = 1, c^2 = 0, c^3 = 0; \quad \lambda^1 = 1, \lambda^2 = 0, \lambda^3 = 0, \\ \lambda^4 = -2 \quad e_1 = \begin{pmatrix} 1 \\ 0 \\ 0 \\ -2 \end{pmatrix}. \quad (A - \lambda I)e_1 = \begin{pmatrix} 2 \\ 4 \\ 0 \\ 0 \end{pmatrix}.$$

$$(2) \quad c^1 = 0, c^2 = 1, c^3 = 0; \quad \lambda^1 = 0, \lambda^2 = 1, \lambda^3 = 0, \\ \lambda^4 = 1 \quad e_2 = \begin{pmatrix} 0 \\ 1 \\ 0 \\ 1 \end{pmatrix}. \quad (A - \lambda I)e_2 = \begin{pmatrix} -1 \\ -2 \\ 0 \\ 0 \end{pmatrix}.$$

$$(3) \quad c^1 = 0, \quad c^2 = 0, \quad c^3 = 1;$$

(4)

$$\lambda^1 = 0, \quad \lambda^2 = 0, \quad \lambda^3 = 1, \quad \lambda^4 = 1$$

$$e_3 = \begin{pmatrix} 0 \\ 0 \\ 1 \\ 1 \end{pmatrix} \quad (A - \lambda I) e_3 = \begin{pmatrix} 1 \\ 2 \\ 0 \\ 0 \end{pmatrix}$$

$$Q_3 = \mathcal{L};$$

$$e_1 = \begin{pmatrix} 1 \\ 0 \\ 0 \\ 0 \end{pmatrix}, \quad e_2 = \begin{pmatrix} 0 \\ 1 \\ 0 \\ 0 \end{pmatrix}, \quad e_3 = \begin{pmatrix} 0 \\ 0 \\ 1 \\ 0 \end{pmatrix}, \quad e_4 = \begin{pmatrix} 0 \\ 0 \\ 0 \\ 1 \end{pmatrix}$$

$$(A - \lambda I)^2 e_1 = \begin{pmatrix} 2 \\ 4 \\ 0 \\ 0 \end{pmatrix} \quad (A - \lambda I)^2 e_2 = \begin{pmatrix} -1 \\ -2 \\ 0 \\ 0 \end{pmatrix}$$

$$(A - \lambda I)^2 e_3 = \begin{pmatrix} -1 \\ -2 \\ 0 \\ 0 \end{pmatrix} \quad (A - \lambda I)^2 e_4 = \begin{pmatrix} 1 \\ 2 \\ 0 \\ 0 \end{pmatrix}$$

$$\left(\begin{array}{cccc|cccc} 2 & -1 & -1 & 1 & 2 & -1 & 1 & 1 & 0 \\ 4 & -2 & -2 & 2 & 4 & -2 & 2 & 2 & 1 \\ 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 1 \\ 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 2 \end{array} \right) \quad \text{umax:}$$

$$\left(\begin{array}{c|c} 1 & 0 \\ 2 & 1 \\ 0 & 1 \\ 0 & 2 \end{array} \right) \quad (A - \lambda I) e_4 = \begin{pmatrix} -1 \\ -2 \\ 1 \\ 1 \end{pmatrix}$$

$$\begin{pmatrix} 1 \\ 2 \\ 0 \\ 0 \end{pmatrix}, \begin{pmatrix} -1 \\ -2 \\ 1 \\ 1 \end{pmatrix}, \begin{pmatrix} 0 \\ 0 \\ 0 \\ 1 \end{pmatrix}, \begin{pmatrix} 0 \\ 1 \\ 1 \\ 2 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 1 & 0 & 0 \\ 0 & 1 & 1 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix}$$

N 60.74

L - sur. n -ba rang \mathbb{R} , $\dim(L) = 4$;

e_1, e_2, e_3, e_4 - bazis n -ba L .

$$A = \begin{pmatrix} 1 & 1 & 1 & 0 \\ -1 & 3 & 0 & 1 \\ -1 & 0 & -1 & 1 \\ 0 & -1 & -1 & 1 \end{pmatrix}$$

$$\left(\begin{array}{cccc|c} 1-\lambda & 1 & 1 & 0 & \\ -1 & 3-\lambda & 0 & 1 & \\ -1 & 0 & -1-\lambda & 1 & \\ 0 & -1 & -1 & 1-\lambda & \end{array} \right) =$$

$$\left(\begin{array}{cccc|c} 1-\lambda & 1 & 1 & 0 & \\ -1 & 3-\lambda & 0 & 1 & \\ -\lambda^2 & 1+\lambda & 0 & 1 & \\ 1-\lambda & 0 & 0 & 1-\lambda & \end{array} \right) =$$

$$(1-\lambda) \left(\begin{array}{ccc|c} -1 & 3-\lambda & 1 & \\ -\lambda^2 & 1+\lambda & 1 & \\ 1 & 0 & 1 & \end{array} \right) =$$

$$(1-\lambda) \left(\begin{array}{ccc|c} -1 & 3-\lambda & 1 & \\ 1-\lambda^2 & -2+2\lambda & 0 & \\ 2 & -3+\lambda & 0 & \end{array} \right) =$$

$$(1-\lambda)^2 \begin{vmatrix} 1+\lambda & -2 \\ 2 & -3+\lambda \end{vmatrix} =$$

$$(1-\lambda)^2 (-3+\lambda -3\lambda + \lambda^2 + 4) = (1-\lambda)^2 (\lambda^2 - 2\lambda + 1) =$$

$$(\lambda - 1)^4$$

$$\lambda = 1, \quad m = 4.$$

$$\begin{pmatrix} 0 & 1 & 1 & 0 \\ -1 & 2 & 0 & 1 \\ -1 & 0 & -2 & 1 \\ 0 & -1 & -1 & 0 \end{pmatrix}$$

$$\begin{pmatrix} 0 & 1 & 1 & 0 \\ -1 & 0 & -2 & 1 \\ -1 & 0 & -2 & 1 \\ 0 & 0 & 0 & 0 \end{pmatrix}$$

$$\begin{array}{cc|cc} \textcircled{2} & \textcircled{4} & \textcircled{7} & \textcircled{3} \\ \hline 1 & 0 & 0 & -1 \\ 0 & 1 & 1 & 2 \end{array}$$

$$x^1 = c^1, \quad x^3 = c^2$$

$$(1) \quad c^1 = 1, \quad c^2 = 0;$$

$$x^1 = 1, \quad x^3 = 0,$$

$$x^2 = 0, \quad x^4 = 1$$

$$e_1 = \begin{pmatrix} 1 \\ 0 \\ 0 \\ 1 \end{pmatrix}$$

$$(2) \quad c^1 = 0, \quad c^2 = 1; \quad x^1 = 0, \quad x^3 = 1, \quad x^2 = -1,$$

$$x^4 = 2 \quad e_2 = \begin{pmatrix} 0 \\ -1 \\ 1 \\ 2 \end{pmatrix}$$

$$(A - \lambda I)^2 =$$

$$\begin{pmatrix} 0 & 1 & 1 & 0 \\ -1 & 2 & 0 & 1 \\ -1 & 0 & -2 & 1 \\ 0 & -1 & -1 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 & 1 & 0 \\ -1 & 2 & 0 & 1 \\ -1 & 0 & -2 & 1 \\ 0 & -1 & -1 & 0 \end{pmatrix} =$$

$$\begin{pmatrix} -2 & 2 & -2 & 2 \\ -2 & 2 & -2 & 2 \\ 2 & -2 & 2 & -2 \\ 2 & -2 & 2 & -2 \end{pmatrix}$$

$$\chi^2 = c^1, \chi^3 = c^2,$$

$$\chi^4 = c^3.$$

$$(1) c^1 = 1, c^2 = 0, c^3 = 0;$$

$$(1 \quad -1 \quad 1 \quad -1)$$

$$\chi^2 = 1, \chi^3 = 0, \chi^4 = 0,$$

$$\chi^1 = 1$$

$$\begin{matrix} \textcircled{1} & \textcircled{2} & \textcircled{3} & \textcircled{4} \\ (1 & | & 1 & -1 & 1) \end{matrix}$$

$$e_1 = \begin{pmatrix} 1 \\ 1 \\ 0 \\ 0 \end{pmatrix}$$

$$(2) c^1 = 0, c^2 = 1, c^3 = 0; \chi^2 = 0, \chi^3 = 1, \chi^4 = 0,$$

$$\chi^1 = -1. \quad e_2 = \begin{pmatrix} -1 \\ 0 \\ 1 \\ 0 \end{pmatrix}$$

$$(3) c^1 = 0, c^2 = 0, c^3 = 1; \chi^2 = 0, \chi^3 = 0, \chi^4 = 1, \chi^1 = 1$$

$$e_3 = \begin{pmatrix} 1 \\ 0 \\ 0 \\ 1 \end{pmatrix} \quad (A - \lambda I)e_1 = \begin{pmatrix} 1 \\ 1 \\ -1 \\ -1 \end{pmatrix} \quad (A - \lambda I)e_2 = \begin{pmatrix} 1 \\ 1 \\ -1 \\ -1 \end{pmatrix}$$

$$(A - \lambda I)e_3 = \begin{pmatrix} 0 \\ 0 \\ 0 \\ 0 \end{pmatrix}.$$

$$Q_3 = \mathcal{L};$$

$$e_1 = \begin{pmatrix} 1 \\ 0 \\ 0 \\ 0 \end{pmatrix}, \quad e_2 = \begin{pmatrix} 0 \\ 1 \\ 0 \\ 0 \end{pmatrix}, \quad e_3 = \begin{pmatrix} 0 \\ 0 \\ 1 \\ 0 \end{pmatrix}, \quad e_4 = \begin{pmatrix} 0 \\ 0 \\ 0 \\ 1 \end{pmatrix}$$

$$(A - \lambda I)^2 e_1 = \begin{pmatrix} -2 \\ -2 \\ 2 \\ 2 \end{pmatrix} \quad (A - \lambda I)^2 e_2 = \begin{pmatrix} 2 \\ 2 \\ -2 \\ -2 \end{pmatrix}$$

$$(A - \lambda I)^2 e_3 = \begin{pmatrix} -2 \\ -2 \\ 2 \\ 2 \end{pmatrix} \quad (A - \lambda I)^2 e_4 = \begin{pmatrix} 2 \\ 2 \\ -2 \\ -2 \end{pmatrix}$$

$$\left(\begin{array}{cccc|cc} -2 & 2 & -2 & 2 & 1 & 1 & 0 & 1 & 0 \\ -2 & 2 & -2 & 2 & 1 & 1 & 0 & 0 & -1 \\ 2 & -2 & 2 & -2 & -1 & -1 & 0 & 0 & 1 \\ 2 & -2 & 2 & -2 & -1 & -1 & 0 & 1 & 2 \end{array} \right)$$

$$\left(\begin{array}{c|c} 2 & 1 \\ 2 & 0 \\ -2 & 0 \\ -2 & 1 \end{array} \right) \quad (A - \lambda I) e_4 = \begin{pmatrix} 0 \\ 1 \\ 1 \\ 0 \end{pmatrix}$$

U_{\max} :

$$\begin{pmatrix} 2 \\ 2 \\ -2 \\ -2 \end{pmatrix}, \begin{pmatrix} 0 \\ 1 \\ 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 0 \\ 0 \\ 0 \\ 1 \end{pmatrix}; \begin{pmatrix} 1 \\ 0 \\ 0 \\ 1 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 1 & 0 & 0 \\ 0 & 1 & 1 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix}.$$

L - сум. n -го маг \mathbb{R} , $\dim(L) = 4$; (5)

l_1, l_2, l_3, l_4 - базис n -го L .

$$A = \begin{pmatrix} 3 & -4 & 0 & 2 \\ 4 & -5 & -2 & 4 \\ 0 & 0 & 3 & -2 \\ 0 & 0 & 2 & -1 \end{pmatrix}$$

$$\begin{vmatrix} 3-\lambda & -4 & 0 & 2 \\ 4 & -5-\lambda & -2 & 4 \\ 0 & 0 & 3-\lambda & -2 \\ 0 & 0 & 2 & -1-\lambda \end{vmatrix} =$$

$$\begin{vmatrix} 3-\lambda & -4 \\ 4 & -5-\lambda \end{vmatrix} \cdot \begin{vmatrix} 3-\lambda & -2 \\ 2 & -1-\lambda \end{vmatrix} =$$

$$(-15 - 3\lambda + 5\lambda + \lambda^2 + 16) (-3 - 3\lambda + \lambda + \lambda^2 + 4) =$$

$$(\lambda^2 + 2\lambda + 1)(\lambda^2 - 2\lambda + 1) = (\lambda - 1)^2 (\lambda + 1)^2$$

$$\lambda = -1$$

$$m = 2$$

$$\lambda = 1$$

$$m = 2.$$

$\lambda = -1, m = 2,$

$$\begin{pmatrix} 4 & -4 & 0 & 2 \\ 4 & -4 & -2 & 4 \\ 0 & 0 & 4 & -2 \\ 0 & 0 & 2 & 0 \end{pmatrix}$$

$$\begin{pmatrix} 2 & -2 & 0 & 1 \\ 2 & -2 & -1 & 2 \\ 0 & 0 & 2 & -1 \\ 0 & 0 & 1 & 0 \end{pmatrix}$$

$$\begin{pmatrix} \textcircled{1} & \textcircled{3} & \textcircled{4} & \textcircled{2} \\ 1 & 0 & 0 & 1 \\ 0 & 0 & 1 & 0 \\ 0 & 1 & 0 & 0 \end{pmatrix} \quad (6)$$

$$\begin{pmatrix} 2 & -2 & 0 & 1 \\ 0 & 0 & -1 & 1 \\ 0 & 0 & 2 & -1 \\ 0 & 0 & 1 & 0 \end{pmatrix}$$

$$\chi^2 = C$$

$$C = 1; \quad \chi^2 = 1$$

$$\chi^1 = 1, \quad \chi^3 = 0, \quad \chi^4 = 0$$

$$\begin{pmatrix} 2 & -2 & 0 & 1 \\ 0 & 0 & -1 & 1 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 1 & 0 \end{pmatrix}$$

$$e = \begin{pmatrix} 1 \\ 1 \\ 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} 2 & -2 & 0 & 1 \\ 0 & 0 & 0 & 1 \\ 0 & 0 & 1 & 0 \end{pmatrix}$$

$$\begin{pmatrix} 2 & -2 & 0 & 0 \\ 0 & 0 & 0 & 1 \\ 0 & 0 & 1 & 0 \end{pmatrix}$$

$$\begin{pmatrix} 1 & -1 & 0 & 0 \\ 0 & 0 & 0 & 1 \\ 0 & 0 & 1 & 0 \end{pmatrix}$$

$$(A - \lambda I)^2 =$$

(7)

$$\begin{pmatrix} 4 & -4 & 0 & 2 \\ 4 & -4 & -2 & 4 \\ 0 & 0 & 4 & -2 \\ 0 & 0 & 2 & 0 \end{pmatrix} \begin{pmatrix} 4 & -4 & 0 & 2 \\ 4 & -4 & -2 & 4 \\ 0 & 0 & 4 & -2 \\ 0 & 0 & 2 & 0 \end{pmatrix} =$$

$$\begin{pmatrix} 0 & 0 & 12 & -8 \\ 0 & 0 & 8 & -4 \\ 0 & 0 & 12 & -8 \\ 0 & 0 & 8 & -4 \end{pmatrix} \begin{pmatrix} \textcircled{3} & \textcircled{4} & \textcircled{7} & \textcircled{2} \\ 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \end{pmatrix}$$

$$\chi^1 = c^1, \chi^2 = c^2$$

$$\begin{pmatrix} 0 & 0 & 3 & -2 \\ 0 & 0 & 2 & -1 \end{pmatrix} \uparrow$$

$$(1) \quad c^1 = 1, c^2 = 0; \\ \chi^1 = 1, \chi^2 = 0, \chi^3 = 0, \\ \chi^4 = 0. \quad e_1 = \begin{pmatrix} 1 \\ 0 \\ 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} 0 & 0 & -1 & 0 \\ 0 & 0 & 2 & -1 \end{pmatrix} \downarrow$$

$$(2) \quad c^1 = 0, c^2 = 1;$$

$$\begin{pmatrix} 0 & 0 & -1 & 0 \\ 0 & 0 & 0 & -1 \end{pmatrix}$$

$$\chi^1 = 0, \chi^2 = 1, \chi^3 = 0, \\ \chi^4 = 0 \quad e_2 = \begin{pmatrix} 0 \\ 1 \\ 0 \\ 0 \end{pmatrix}.$$

$$(A - \lambda I)e_1 = \begin{pmatrix} 4 \\ 4 \\ 0 \\ 0 \end{pmatrix}$$

$$(A - \lambda I)e_2 = \begin{pmatrix} -4 \\ -4 \\ 0 \\ 0 \end{pmatrix}.$$

$$\begin{pmatrix} 4 \\ 4 \\ 0 \\ 0 \end{pmatrix}, \begin{pmatrix} 1 \\ 0 \\ 0 \\ 0 \end{pmatrix} \cdot \begin{pmatrix} 4 & -4 & | & 1 \\ 4 & -4 & | & 1 \\ 0 & 0 & | & 0 \\ 0 & 0 & | & 0 \end{pmatrix} \begin{pmatrix} 4 \\ 4 \\ 0 \\ 0 \end{pmatrix}$$

$$\lambda = 1, m = 2$$

(8)

$$\begin{pmatrix} 2 & -4 & 0 & 2 \\ 4 & -6 & -2 & 4 \\ 0 & 0 & 2 & -2 \\ 0 & 0 & 2 & -2 \end{pmatrix}$$

$$\begin{pmatrix} 1 & -2 & 0 & 1 \\ 2 & -3 & -1 & 2 \\ 0 & 0 & 1 & -1 \end{pmatrix}$$

$$\begin{pmatrix} 1 & -2 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 0 & 0 & 1 & -1 \end{pmatrix}$$

$$\begin{pmatrix} 1 & -2 & 0 & 1 \\ 0 & 1 & 0 & -1 \\ 0 & 0 & 1 & -1 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 0 & 0 & -1 \\ 0 & 1 & 0 & -1 \\ 0 & 0 & 1 & -1 \end{pmatrix}$$

$$\begin{pmatrix} \textcircled{1} & \textcircled{2} & \textcircled{3} & \textcircled{4} \\ 1 & 0 & 0 & 1 \\ 0 & 1 & 0 & 1 \\ 0 & 0 & 1 & 1 \end{pmatrix} \quad x^4 = c$$

$$c = 1; \quad x^4 = 1, \quad x^1 = 1, \quad x^2 = 1, \quad x^3 = 1 \quad e = \begin{pmatrix} 1 \\ 1 \\ 1 \\ 1 \end{pmatrix}.$$

$$(A - \lambda I)^2 = \quad (9)$$

$$\begin{pmatrix} 2 & -4 & 0 & 2 \\ 4 & -6 & -2 & 4 \\ 0 & 0 & 2 & -2 \\ 0 & 0 & 2 & -2 \end{pmatrix} \begin{pmatrix} 2 & -4 & 0 & 2 \\ 4 & -6 & -2 & 4 \\ 0 & 0 & 2 & -2 \\ 0 & 0 & 2 & -2 \end{pmatrix} =$$

$$\begin{pmatrix} -12 & 16 & 12 & -16 \\ -16 & 20 & 16 & -20 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix} \begin{matrix} \textcircled{1} & \textcircled{2} & \textcircled{3} & \textcircled{4} \\ \left(\begin{array}{cc|cc} 1 & 0 & 1 & 0 \\ 0 & 1 & 0 & 1 \end{array} \right) \end{matrix}$$

$\chi^3 = C^1, \quad \chi^4 = C^2$

$$\begin{pmatrix} -3 & 4 & 3 & -4 \\ -4 & 5 & 4 & -5 \end{pmatrix} \quad (1) \quad C^1 = 1, \quad C^2 = 0;$$

$\chi^3 = 1, \quad \chi^4 = 0$

$$\begin{pmatrix} -3 & 4 & 3 & -4 \\ 0 & -1 & 0 & 1 \end{pmatrix} \quad \chi^1 = 1, \quad \chi^2 = 0$$

$e_1 = \begin{pmatrix} 1 \\ 0 \\ 1 \\ 0 \end{pmatrix}$

$$\begin{pmatrix} -3 & 0 & 3 & 0 \\ 0 & -1 & 0 & 1 \end{pmatrix} \quad (2) \quad C^1 = 0, \quad C^2 = 1;$$

$$\begin{pmatrix} 1 & 0 & -1 & 0 \\ 0 & 1 & 0 & -1 \end{pmatrix} \quad \chi^3 = 0, \quad \chi^4 = 1,$$

$\chi^1 = 0, \quad \chi^2 = 1$

$e_2 = \begin{pmatrix} 0 \\ 1 \\ 0 \\ 1 \end{pmatrix}$

$$(A - \lambda I) e_1 = \begin{pmatrix} 2 \\ 2 \\ 2 \\ 2 \end{pmatrix}$$

$$(A - \lambda I) e_2 = \begin{pmatrix} -2 \\ -2 \\ -2 \\ -2 \end{pmatrix}$$

$$\begin{pmatrix} 2 \\ 2 \\ 2 \\ 2 \end{pmatrix}, \quad \begin{pmatrix} 1 \\ 0 \\ 1 \\ 0 \end{pmatrix} \cdot$$

$$\begin{pmatrix} 2 & -2 & 1 \\ 2 & -2 & 1 \\ 2 & -2 & 1 \\ 2 & -2 & 1 \end{pmatrix} \begin{pmatrix} 2 \\ 2 \\ 2 \\ 2 \end{pmatrix}$$

u_{max} :

(10)

$$\begin{pmatrix} 4 \\ 4 \\ 0 \\ 0 \end{pmatrix}, \begin{pmatrix} 1 \\ 0 \\ 0 \\ 0 \end{pmatrix}; \begin{pmatrix} 2 \\ 2 \\ 2 \\ 2 \end{pmatrix}, \begin{pmatrix} 1 \\ 0 \\ 1 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} -1 & 1 & 0 & 0 \\ 0 & -1 & 0 & 0 \\ 0 & 0 & 1 & 1 \\ 0 & 0 & 0 & 1 \end{pmatrix}.$$